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HRERERE

gobbooooobbooooooboooooboon
gboboboooobobbboooobbbboooobon

gbobbooooobbooooboobooooobon
gobobooogoboboboooon

gobbooooobbooooooboooooboon
gbobobooooogooo
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1 00

gooooao:
NI{L 27 37 7}

Dooooo
Z={,-2 -1,0,1,2 -}

gbobobooooobobobooooobon.
gobobbooogoobooog.

00 1.1 «0000,00000000
b=qa+r, 0<r<a
00000000 gq,r000b0O000Oong.

O0a beZOO00,0000 ¢q0OOODOO
b=uaq

OOoo0Ooo0,e«00o00000,000000«000000,0000«0b60000
O00,00000 «000000000. «0bVODOOOOODOGPDOODO. b
0«00000000,a /b000. «0b000000,—-0b000000O0O,
gboboboboogoobobooooobobooood.

O0ea b000,c0b00000000O00D00ODO. cObO0D0OD0OO0OOO
O0000,e¢0b000000000,ged(e,b)000.c0b0000000 10
Oob00,c0b0000000DO0OOO.

l1boggobboogobbooobbuoogbobog.200bbooaooon
gbobbobooooobbobo. odag,

2,3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41,

00000000000000000000000000.
O00000000.0000000000000,00000000 py,pe, -,
p,000.000n=pip--pn+10000.000000000000000
000,n0000000000000000.000,n0p, -, p, 00000
00000000000000.00000000000000000
000000000000, 00000000000000000000. OO0
0,000000000000000000000000000. 200706000

gobobooooogooo
932582657 _ |



gobo,00ggoooesiot. buggaobobooogobooba,gbbobod
O000000.00000000,2"—-100000000000 (M. Mersenne) O
obodb.dbooboboobobooobuoobobooboo,2007Tbbebbg, 0
obdnb40000000.
gboodbbodgbboobobogbob,bogbbuogbbooboog. b
gbob,ogoobbobodaoaobbbod.

oooo
305,507, 110 13,170 190000,00000000000000000
00.00000000000000000000000000000.
ooooooooon
4A0000000000000000000000000000. 4 =2+ 2,
6=3+3,8=5+3,10=7+3,12=7+500.

gobobobooog,boggogbobobouogoobbooboog.obog,boboo
O00r.,0000000000000py,pe,---,pe0000 €, €9, -+, e, 000
HEN
n:pfilp;Q“.ka
g,0oggogooboooooobod.
oobo,00000booooboof. e, b,md0000O0. a—-00mO0O0O
ooooo,

a=b (mod m)

ooo.
0000,17=2 (mod 5)000.
a=b(modm)000000,¢0mO00000O0000K0 MODOOODOOO

0000000000000. 0000,«0b0mO0000000000000,

Dooooooooo.

0O0oo0000000000O0.

00 1.2 a, b, ceZ0000.
(i) a = a (mod m).
(ii) a=b (mod m)0 00O b= a (mod m).
(iii) a=b (mod m)O 0 b=c¢ (mod m) D00 a=c (mod m).

00 ()0000. ({)0,e—b0mO0000000,b-e0mO000000
000000, () 000. a=b (mod m)0000 00000 a—b = am.
b=c(modm)0000y00000b—c=ym. 00000,a—c=(zx+y)m0O
O000,ea—cO0mO00000a=c(modm)000O. n

3



00 1.3 alay, alag,---, ale, OO0, 00000 by, by, -+, b, 000, al(arby +
asby +---+ayb,) OODO.

00 alay, alag, -, ala, 000, ¢, ¢, -++,¢, 00000,
a; = acy, Gy = acy, -, Ap = ACy
ooo.o000,
a1by + agbs + - - - + ayb, = alc1by + coby + - -+ ¢,by)

gbobobogaad. ]

0000 nO000000,n0000 {ay,as,--+,a,}000. 000000000
gboboogbogotooboobbuogboobboobboobotbboobo
gb,1g00bbbooodbnbbbooooobbobuooogoon.

n0000000000,00000 (Dirichlet) 000000000000 00O0O
gbobooogad.

00000 (Dirichlet) DO0O0O0O0DOO
nO0D000000n+1000000000, 0000000000
2000400004040,

2 Oooobooboo

a, bUOODOODOODOOOO, e, b0 000000000 OO0OOODO.

00 21¢r0a=¢+r00000000000,q b000000006, 700
oooooooo.

OO0 O000OcOe, b00000O00cO-00000.00,cO0b,r0000000
cOaeO000ODO0O. O000DODOOOOO. [

o0dbb0O0Oe bOO0DO0O0OOOOOODOOODOOODOOOOODOODOODO

a=mb+r; 0<r <[b—-1
b:m2r1+r2 0§7"2§7"1—1
ri=mgra+r3 0<rg<ry—1



0000,r >r>rm>-->0000000,000000r,#0,r,. =000
0.0000

Tn—1 = Mnp4+1Tn

oooo,r, 0, b0000000O0O0O.

0 22 1s404000000000000000.

184 =4 x 40 + 24
40=1x24+16
24=1x16+38

16 =2x8

O0000,18404000000008000.
00 23 e, b0 000000000, q, b000000O00O0dOOO0O,
aa+ b=d
00000000 o, pO00OD0OO.
oo0ooooooooooo,
ry =a—mb
oo00,;pm=1L,¢=—m 0000
r1=pia+qb

ooo. o0,
ro =b—mory =b— my(pra+ q1b)
= —magp1a + (1 — maq1)b

g, ps=—mop1,qa=1—moq; OO0
T2 = p2a + q2b
goo.rn,,00000000000000DO0OO,
r3 = p3a + qsb

dodod.ogoogog
r; = pia + q;b

5



oo0o0,:=n0000000,r, 0, b000000O0dOOOO0O
d:Tn:pna+an

gooboobooddpy,g, OO0 ooooogon.
gboobooogobooog.

024 ¢, b000000O00O0OOOO.ODOO0O,
rxa+yb=1
oo z,y0doong.

OO0 O0b0230000,d=10000000000. ]

025a¢=13,b=9000.0000,2=-2,y=30000
ra+yb=1
gdag.
00]j00230000000000000000.
OO0 26 e, b0 000000000, b00000O00O0O0dO0O0O. ODOO0O,
I'={za+yb | z,y€Z}

gooo,/I0d0b0bo0booooonbo. ooo,

I'={zd | z€Z}
gdag.

OO0 ae=1la+0b00eel000. 000,bel000. 00,c000000
—a00000,-a=(-1)a+0b000 —eeI000.00000,I00000
ooo./boobooboboobbobbobboocbboo.oooo,

c=x10 + x9b
guoooobooibxn,zdddo. bbb, 00000
ze = (zz1)a + (xxa)b

6



000,/0.000000000.0000000,/00000:000.000
0,00 1.10000¢ r00000,

z=qc+r, 0<r<ec

oood. z,qcelD0UO2z2—qce 0000, 0000refgpnog,o0rg
oooooob,c0oobgooob. obob,r7oobobog, coboobob. 00
O,/000000 cO0O00000.000b00,000,a,b0000 cO0DOO0O
0.d0e, b000000000¢|d000.00,d0e, bO000000O0O,700
ooooboJ4J0b00b00b0. 00000, cO0qd0b0ObD0ObD. o000, e=d0O0
goooog. ]

3 UoQd
00 3.1 a; =ay (mod m), by =by (mod m) OODODO,

a; £ by = ay £ by (mod m)
a1by = agby (mod m)

gobooo.

OO0 0000 a —ay=a2m,by—by=ymO00000 2z, yOOOOO. ODOO0O
0o,

(ay £b1) — (aa £ b)) = (z £ y)m

a1by — agby = ay(by — bg) + (a1 — ag)be = (a1y + bex)m

gobo.odggooboboodagd. ]

Odmib0D0000O0000. 00 eO0O0O,
a={r€Z | r=a (modm)}.

gidd,c0bbbb»iboobbbbobddd. e 00O e DODOOOO. all,
mUOdUOouoooob «00000ooooodout. mobd e0O0OOO
000000 e«U0000000. 0mO000000000000Z/mMZO0O0.
a0mOO000000r(0<r<m-1)0000,a=r (modm)O000,re€al
did,r=aUU00. 0000000000000, moobooogg
good. ooo,

Z/mZ=1{0,1, ---, m—2, m—1}



O00,0000mO00000.000,0000000000000000000
O00000000000000.

00000000 Z/mZ0O,000000000.

a,beZ/mzZ000

003100000000000000000.
000,00000000000,1010000000. 000,ac€ Z/mZ0
oQ,

I
—I
Y
Il

al a
DDDDD.DD,DDDD-DDDDDDDD,EL-ED agh000000O0OO. OO
goodogogno.

0 3.27/4Z00,1,2,3040000000.0000,

goooo.

4 OO0O0O0O0OOOOO

00 41 @, b, cO000, mOOOODOO,m0d cO00000OOODOO0OO. ODOO
O,ac=bc (modm)000,a=b(modm)00000O0.

o0 b2400000,00z,y0cc+my=10000000000. 000,
a = acr + amy, b = bcx + bmy

O00.000,a-b=(ac—bc)x+(ay—byymOO 00, 000000000 m
O0O0000.000,e—b0mO00000O0. [

gbobbooodabn.

00 42 (00000 (Fermat) 00 00) « 000 pO00000O0COOOOOO
a’?~' =1 (mod p)

gobooo.



00 Z/pZO 000000000

goo.

goo.

goo

goo.

{ala Ao, 7ap71}

o0 pdD00O00O0DOO,004100,00000

{a17a27 T aap—l} = {dab@a% e adap—l}

noo,
al.a2.....ap_1 :&al'aaﬁ""'aap—l
— C_Lp_lal “Qg v 'a/pfl

.aay--ora, 0 Z/pZ200000000,00004.100

a =1

gobobobooogoobooog.

043 p=71000,e=16660 710000000. O0OO,

1666 =1 (mod 71)

5 Uooon

gbobogooboboooobbuooobbooobbooobobbooooboboo.

1. 0ogogn
gboboboooobbbbooooobbboooobn.

2. p—10

OO0 n0000p0000,p—1000000000000000O00O0O0OO

goboo.

0 5.1 n=98093000000000. B=7'=5040000. BOp—10000
000000000,000000/¢00000 B={(p—1)000O0O,00000

goboooog

28 1= -1=1"-1=0 (mod p)



00000, 285-10p000000. 000000, 2591 =24840—1 (mod 98093)
gogoosbgbuboobobobbooobobobob.obobg,boobd
D00 d=42100000.0000,0000

98093 U 421 x 233

O00. 00000000,421-1=420=2*x3x5x70000000000
gbooboooobobooodgon.

3. 000000000p00
197 0000000000000 0000000, 000n0000 pOODOO
nooo,
ap =1, a;;1 = a?+1 (mod n)

oooo qoooooon.
a; 0 pd000oOngg
07 ]-7 27 7p_]-

Opb0dnoOodod,ap,a,---,eq,000p000000000000000. O
00,4, ;0

a; = a; (mod p)
gooooooo.obbn

a1 =ar+1= a§+ 1 =aj;; (mod p)

o000, ;000 k=7—e00000000000. ¢+ <kUO0ODOODOO
m=k0000,00000

Ay, = A2m (mOd p)

oo, a,—a,U0pdidoodoob. D00oodd, nd agy —a, 0000
gbb,n000000000000O00O000OO0O0. 0000 p00b0O0O0OO
UO0mO0O00Ooog. dbbodob,soddbibddas—ae, UdnOd0000000O0
gbooobo,gbboboggooon.

U0 5.2n=3000.q 003000000,
CLO:1, a1:2, a2:5, a3:26, a4:12, a5:57 ey,

Oo0. 0Dd0d,a—a=70n=3000000000007Y000. OO0,
OO003=7x5000.
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4. 000000
n=23937000,
/3937 = 63
oon
632 —n=32=2°
642 —n = 159 = 3 x 53
652 — n = 288 = 2° x 32
662 — n = 419
672 —n =552 = 23 x 3 x 23

10000 3000ogoooo
(63 x 65)* = (2° x 3)? (mod n)

gad

2% —y*> =0 (mod n)
00, (z—y)(z+y)0 n00000000, 000000 2—y0nr0000000
00000000.00000000,63x65—2°x3=239990 3937000000

gbobogobboooobbooob3aibobo. gob,0obibn 3937 =31 x 127
goo.

6 LUUgonbn

obooobooobobobobobobobobobob.obooboQoOoo:
2
Q:{—g,—1,0,4/5,25/33,---}

O0D0000000D000000D,y/20000000000000000. 00
0O00,00000000000000000.0000000000000000
0.000« 000000 e000000000000OOOOO. O00O0OOOO
ORODODO:

R>-2/3,-1,0,v2,m,e,- -

2000 -100000000000 v—-1000.y—100000000.00
000i=+/—100000000.a,beRO0O0,a+b/—1000000000.
000,00000000000000,00000000.«000,600000
0.000000000CO00:

C={a+bi|abeR,i=y—1}

11



cooo a1:a1+b12',0z2:a2—|—b22'D,alzaQDD blszDDDDDDDDD
O.00ae0e+0y-1000000000000O0O0OOO. 000000,

CORDQ

O00.00000000a+0(b#0)000,0000000000000C.0O
coog a1:a1+bli,a2:a2+b2iDDD,DD

o1+ g = (a1 + CLQ) + (b1 + bg)i,

0o
Qq - Qg = (a1a2 — ble) + (&1b2 + blaz)i

Oo0oooboo. bobooo,gbb0bboob0 Quobooobobo RrROO
obodbo,dgbooboodbobooboobuoobL. bbb z2=a+be 000,
z=a—-b000O0,:00000000.

00 6.1 (00000000) (Gauss,1799) 000 ag, a1, -+, an; a9 #0000 0
00~000000

apr” + a1z a4+ 4 a1 +a, =0
O, 000000COnpO00O0O0DOO.
000, 000d0ouoooooooooon. googg
2 +ar+b=0

gobobooooobboboooon

—a++va? —4b
2

Tr =

gbobogd.boogo,gobooooooo,bo,bbbogo,gaooo
gobbbbbodoodggbobbbbbtbouooooooobbbbbooon. o
O00000000000000 (G.Cardano) 000, 0000000000 DOOO
000 (L. Ferrari) 00 O00O0O0O0OOOOC. OOOOO,00000000,000
gboo,dgbbuogdgbbobogobobobboboobboooboo,ogaooo
gbboogdgboodob.oobbuoobbog,ggbbuoobboobboabn
goooooboobo. obbbobosbbbobbobobbbbbbooodoaad
obog,boobbobooboboobo.
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00 6.2 (Abel000) OOOOOOOODOOODODO, 000000000, OO
g, ggbbbbtooodbbbbuooodabobbbodaoad.

00,00000000Q,0000000R, 00000000COO0,000
000000000000000000. 000000000000000000
oooo.

00 6.3 00 KOO +,0-00000000DO0O000O0O0O, KOOOOO.
a,b,ce KOOO.

() (0 +0000)

i) (0000) (a+b)+c=a+(b+c)
(i) (00000 )000ee KOOO,04+a=a+0=a0000 0000
Ooo.

(i) (0000000000 )ee KOODa+d =d +a=00000
¢ e KODODOOO.

(iv) (000 )a+b=b+a
(I (0 -0000)

(i) (DO0OO)(a-b)-c=a-(b-c)

(i) (000000 )000eekO0O01l-a=a-1=¢00001000
ggd.

(i) (0D00DO0DO0D)beK, b£A0000b-¥ =¥ -b=10000
Ve KOOODOOO.

(iv) (00O )a-b=b-a

(IIl) (D0D0O0)

(i) (a+b)-c=a-c+b-c
(i) a-(b+c)=a-b+a-c

O00000 xO-0b0b0obodgbd,e, be KOOO,e-b00000 abO
go.

OobooobooQ,Uboooboob R, 00obboobbocooooo,bog
Oooooboobobobooboobooboboboobo. oboob0o,Q, R, COO
O00. 000000000Z0,000000000000,00 (IN@i)oo0d
gboboboda.gobbbodooaoobbbod.
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00 64 DO0OOODODOOOOODO,00 (ID@)DoooOoO0oooO0oO0+4+00 -0
OOooooobo ROOOOOOO.

goobodg,0bobbodgoobobbuoooobboboooooon.

OO0 65 000000000000 ag, a1, -+, a,, 000000000000
HEN

aor” + a1z a2+ +ap 1 +a, =0

goboboud,«c0boggaob. gbbbbooooobooboog.

gbobob,g0bbobbouooobbobuoooooon.

0 6.6 000000000000.
00000,00000000002z—-a=000000.
Ova («€cQ)0000O0000.
00000,000000000022-e¢=000000.
0000 00000000 Lindemann, 18820 .
0000000 00000000 Hermite, 18730 .
Oa,a#0,100000,300000000,0000,«°0000000. 0
0000000,0000220000000000000 (D. Hilbert) 0000

O0A. O. Gel'fondO 1934 0 O, T. Schneiderd 19350 [0 . OO O, \/?EDDDD
goo.

Da,a#ODDDDDDDDD,eO‘DDDDDDD.DDDD,@‘EDDDDDD
gooooog.

7 gooogo

000000000000000000000.00000000000000
0ooooo:
Z[i| ={a+bi | a,beZ, i=+—1}

O00000a+bi(a,beZ)0000 (C.F. Gauss)OODODODO. 00,0000
gbboboooobbbooaab,

Q(i) ={a+bi | a,beQ}
O000.a+bi,c+die Q) (c+di#£0) 000,
(a+bi)/(c+di) = (ac+bd)/(c* + d°) + (—ad + be)i/(* + d°) € Q(i)

14



000,Q¢H)00000.QH 00000 z2=a+bi(a,beQ)020000
X?—2aX +a?+0*=0

0000000000000. 0000 Z0Oo0O0000oooooooo,0000
gobobooooooon.
gbobobo,gbboboogdgbobboooobbboaoan.

00 7.1 v20000000.

g DDDDDDDDDDD,@DDDDDDDDDD.DDDD,DDDDDD
O0d a, b0
V2 =ua/b

Oodogoooopooo.gooogg 20400
20? = a?

0o0o.o0booo,ed2000000. 000,000 cO0b00O00,a=2c00
0.00000,
b? = 202

OO0o0.00bobs02000000.0D0DO, e, b000DO0DODODOODOO
OO0OD.000,y20000000. ]

gobobboobobbooogooooobbbobbbooooooo.goooboo
gboboboboooodgobood.

OD00.00p000p=22+4200000 2,y000000.

15



gboboboogoobboaod.

p r? +
2 12 4 12
3
5 = 12422
7
11
13 = 22+32
17 = 12442
19
23
20 = 22452
31
37 = 12462
41 = 42452
43
47

3 = 22472

gboboboooobobobooga,bbbooogbn.

00 72 00p000p=22+¢4200000 2, y00000000000000
O,p=2000p=1(mod4)00000000.

002, y000000p0d p=22+420000000000,p = (z+yi)(z—yi)
D00000000x+y,»—y000000000000000000.00p
Op=2000p=1(med4)000000000000000000000

8 UoQ

QR COO00OD0O0OO0O0ODODOOO. bObDOOOLO,0O00bOoDObOOO
gboogd. bbod,ogobooobboobobbooboobobboooboo
0.18300,00000000000 (E. Galois: 1811-1832) 0 00 O00O00OOOO
00 (Sur la théorie des nombres)D 0000, 00000000000 OOOOO
gooobbobbobooobbobbboobouoogoa. obooobobbbbbb. O
gbob,ogdgbobobboooobobboooaobn.
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00,m=200,00000000%Z/2Z={0,1}000,00000000,0
gbobob.ooodaoboo,dod

0+0=0, 0+1=1,

140=1, 1+41=0.
ad

0-0=0, 0-1=0,

1-0=0, 1-1=1.

’

O00.000000 Z/2Zz00000000000,0000.00000000O
oooobooboobo.boob F,000.
goobood,pboooobn,

Z/pZ =1{0,1,--- ,p—1}

gobob.ogooobobooodan

a+b=a+0b, a-b=a-b
ooooooooo.d
00 81 p000000O0O,Z/pZODODO0ODO.

00 0000,10000000.0000000,00000000000000
0000000000.000,000@£0000,0000000000000
gbobob.p0dobbob,edpdbbbOo0o0. 00,00 z,y0dgn

ra+yp=1
O00.00000p0000DO,za=1000,z0000000. ]

0Z/pZO F,000.000,p000000000000.m>2000000
000000,zZ/mZ00000000.0000,%/6Z200000,2-3=000
000,2#£0000000000000,00000 2Z/6Z2000000.

0000000,-,0000000,¢=p"0000,¢000000000F,0
0000000000000.00,0000000,0000p000000 n0O
OD00F,.00000000000000.
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9 Ububug

00000000000 RSAOOOODOOOOOOODOOOODOOO. pqeO
20000000.000Z/pgZ00O0O

(Z/pgZ)* ={a | a€Z, ab=1(modpq) D000 DO 00000}

O000.000,0007%Z/p¢Z00000,00000000000000000O
D000.0000,ae(Z/pgZ)* 0000000000000, be (Z/pgZ) 00
gdd
ab=1
gooooooo. oo,
ab=1 (mod pq), a't/ =1 (mod pq)
goo,70o0bobog31o0
aa'b’ =1 (mod pq)

ooo,

a, d' € (Z/pqZ)" = ad’ € (Z/pqZ)*
000.0000,(Z/pgZ)000000000000. Z/pgZ0

07 17 27 7pq_27 pq_l

0000,00000p0000.0000, (Z/pgZ)* 0000000<a<pg—1
00000 pg0000000000000000

(p=1)(g—-1)
godd.ooobobob, bbb ooouboboobobbuooooog.
00 9.1 a€ (Z/pgZ)* 000,

a® Ve~ = 1 (mod pq)
gogdad.

092 p="71,g=9700,n=pg=68870000. 0000, (p—1)(g—1) = 6720.
a=16870000, 16870 71,97000000000 1687 € (Z/6887Z)* 0O 0O .
0oo0Q

16877 = 1 (mod 6887)

goo.

18



00000000000000000000000. F,=2%/pZ00a0a (i=1,
2,3,.---)0F,000000000000,¢00p0000000000.000
00,0 p000000COOCOO,

FP:{(_)7a'7a27a37"' 7ap_2adp_1:i}
goo.oboboboboboboboboboobobooooon.
00 9.3 00p0ion,pddoooooonoooooonong.

0 94

gobooo,booogn

O00.00,200000

2, 22 =

W~

,22=32'=1

0000,F;00000000000000,20500000000000.00
g,30s500000000n000.

pUOOO0O,0pLbOO0OO0ODLODO gLOOOO. DODDOODODODODO gODODOO

0Z/pZ0 000000000000. O00OO,¢"0p000000 «000OO
ac€Z/pZ0000000,0000000000O0O0O0O0O0OOODO. 00O, pO
gbbogdbb,ddectd-0ooobbog,bbuooobbugobban
gbobobooooobboo.gobobobooooboobod.

a=g" (modp), 1<r<p-1
Oo0000,r0«0000000O00O
indga =r

Ub00.1<a<p-1000,«00000r01<r<p-—-1000000000
gboooo.

U 95 p=50000,20000000,0000Db000b00b0bOoobDg.

1]2]3]4
ind, | 4]1]3]2
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10 RSAOO

000000000000000,00000000000000000000
000000000.00000,00000 (W. Difie)00000 (M. Hellman)
0,19760,00000000000,00000000000200000000
00000000000000000. 0000000000000000000
0.0000,000000000000000000,000000000000
0000000000,00000000000000000000.000000
00000,0000000000000000000.

() DOooOoOoUooooooooogo.
(i) ODoooOoOoOoUooooDoooOo.

D000D0000D0O0O0D0O0RSAOODOOODOOO.ODOODO 197800
00000 (R. Rivest), 0000 (A. Shamir), 00000 (L. N. Adleman) 00O
D0000D0. RSADOOD, 000000000000 DO0OO00DDO0OODOO
D000000000000D0. 0000 BOOOOODOO,0000AQ0DOO
00000000 0O00DOoOoOn.

00,0000 AQ000D000p, ¢000,n=pg000. Z/(p—1)(¢—1Z O
O el

ed=1 (mod (p—1)(¢g—1))

0000J000000000000000.000,ne00000.0000A
0pqd0000000,000000
O000BOODOODADOOOMe(Z/nZ)*00000000,

M*¢ (mod n)

000000000, 0000000000000, 00004000000
Me¢ (mod )00 MOOOOOOOO0,0000A0»000000000000
0d00000, (M9 =M (modn)0000,00MOOO0O0000000.
0000000000000000000.
180000009100,

M®=DE=D =1 (mod n).
ed=1(mod (p—1)(¢—1))000,0000 s0000
ed=(p—-1)(¢—1)s+1

20



goo.ooogoon,

M (mod n) M@E=Da=Dst1 (mod p)
= (M®-DE=D)s M (mod n)

M (mod n)

goo.

0101 p =7l,¢=970000000. n=pg =6887000. 0O0O0O,
(Z/6887Z)* 0000 (p—1)(g—1) = 6720. e = 130000, 0000000
ooooooo,

6720 =516 x 13+ 12, 13 =1x 12 +1

HEN

)

13 x 517 =6720+1
OO0.000,d=5170000,

13 x 517 = 1 (mod 6720)
D00.00M=16870000000000000O0,
M¢ = 1687 = 57 (mod 6887)
D000 BOOODOS0O0D000ACDOO.OOOOAQ
57¢ = 57°1" = 1687 (mod 6887)

oooood MO 1e87TOOoooooooog.

11 O0o0oooboooboooodgo

11,1 JUoboboooooobobobogoooooboobood

1.0000000000S={a+1,a+2,---,b—1,0}000000 000
000000000000000b-«000000010000.

2.000 3DDDDDDD%DDDD.

. 0bbooogobbobuooodgoo,20b3bbuooooboood
1 1 1+1
2 3 6

obog.bogbooebobbOobboOobbOobOoO.
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4. 200 300,000500000000000000

1 1 1 1 1 1 1

1—-_Z-_= —
2 3 5+2-3+2-5+3-5 2-3-5

gooboog,bobuggobobuoooogoobobo.
1 1 1

=1-5)1-3)01-+)

5. 000000000Rr+10000000000-,000000000000
00000000000000000000 0000000000000
0..0np000000p,...,p,0000,n+1000000000

1-S)1- 1) -2y (1)

y4! D2 Pm
ggopoogoooggno.

11.2 OJUooog,ogoooboogd

1. ogdgboboobooog

1— n+1
l+a42> 4t = —
1—a

O<z<lOObODOOOO0OO0OO0ODOOOOOOO.DOOOODODODOO.

[e.9]

, 1
Zﬂ:l—i-x—l—xQ—l—'“:

. 1—=x
1=0
2.DDxDDDO<pi1<1DDDD
1 1 1 1 =1
7:14__4__4__4_...: _
1-L o pio Pl Zp’f

r1 =0

3.100,000000000000000000,0000000 {p1,...,pm}

noooo,
1 1 1
p1 b2 Pm
111 1
00000 1,5,5-,-000000000,0000000000000
n
go.
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4. 0000000000O0O.

S Y
17273 n =

1 1 1
1—

1
pP1 p2 Pm

00000000 (1))boooooooo.

11.3 00o0o0oon

1.

I+5+G+D)+GE+s+i+9)++ G +ag+ -+ 7590)
>14+3+2x1+4x s+ +28Fx

> 14+

2.000

®|>_\
wlw

nE

. 000dbtud-u0dbbDez=22000y0000. 00y0000 20 20
O0oooboob.0ddy=log,z000O0O0. OOOODOOOODOOnN
gooo

(3)

goooo.

4 00.000()0000 3)00r+100000000 (1)0

1 1 1 2
(1= )= ) (1= ) <
P1 P2 Pm 2 +logyn
Jdo0oodoogdoobo. oo oobuogboboobouognoooogono

gbbobooodabn.

5. 0
’ {p:00 |p<X}0O0O0O)-logX
im

X—o00 X

=1
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gobbooboogogoboboooooadg,booboo-obobo-000
OO00OooooOo.goglegbbobobOobOOOO

1
e nEEO( +n)

gbob.ooodgbobbbouoooobbboooobboooobboa. b
goboboboooobobobboooooboboogoon.

.ooogoan

X
Hp:00 [p< X} - [, ol

\/YlogX
0 XOOOOoooooooooooooooo,0ooobobooooood
dddoooboboooooo,ooooooooooooooao.

Loooogooobod

C(s)=1+1/2°+1/3+ -+ 1/n" +---

gooooond
()= ] a=p)"

p:0 O
s=00od,o00d
C(2) =7%/6, ((4)=7*/90, ((6)=n5/945,- -

s=0000,00d

((~2n) = 0
ooooog
C(S)DDDDDDDDDDDDDDSDDDD1/2DDDDDDDDD.
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